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e Question No.1

Which country has opted out itself from the (Regional Comprehensive Economic Partnership) RCEP agreement?

Options:

1. India
2. Thailand
3. Malaysia
4.Laos

5.

Answer : India

e Question No. 2

When was Zamindari Association established in India?
Options:

1.1838
2.1834
3.1890
4.1876

5.

Answer : 1838

e Question No. 3
When was the National Institution for Transforming India (NITI) Aayog was formed?
Options:

1.2008

2.2015
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3.2013

4.2010

Answer : 2015

e Question No. 4
Which of the following gas is used for making the Soda Water?
Options:

1. Nitrogen

2. Carbon Dioxide
3. Helium

4. Hydrogen

5.

Answer : Carbon Dioxide

e Question No. 5

RBI has increased the household income limits for borrowers of Non-Banking Financial Companies (NBFC) -

Microfinance Institutions (MFI) from 1 lakh to for the rural areas

Options:

1. Rs.1.25 lakh
2. Rs1.50 lakh
3.Rs.1.70 lakh
4.Rs. 2.5 lakh

5.

Answer : Rs.1.25 lakh

e Question No. 6

%



Art of cultivation of forest trees is called

Options:

1. Sericulture
2. Siviculture
3. Viniculture
4. Horticulture

5.

Answer : Siviculture

e Question No.7

Where is the Kakarapar Atomic Power Plant is located?

Options:

1. Gujrat

2. Maharashtra
3. Karnataka

4. Tamil Nadu

5.

Answer : Gujrat

e Question No. 8

With which of the following crop production Yellow Revolution is related?

Options:

1. Oilseeds
2. Potatoes
3. Wheat

4. Jute

5.

ixam
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Answer : Oilseeds

¢ Question No.9
Baiju Dharmajan is famous for which of the musical instrument?
Options:

1. Sarod
2. Guitar
3. Sitar
4. Flute

5.

Answer : Guitar

e Question No. 10
Competition Act 2002 is the replacement of which of the following Act?
Options:

1. Companies Act

2. Consumer Protection Act
3.SEZ Act

4. MRTP Act

5.

Answer : MRTP Act

e Question No. M

According to Article 81, of Indian Constitution what is the maximum strength of members of Parliament in the Lok

Sabha?

Options:



1.530
2.510
3.532

4.552

Answer : 552

e Question No. 12

Which of the following is the largest irrigation canal in India?
Options:

1. Kakatiya Canal

2. Indira Gandhi Canal
3. Sharda Canal

4. Buckingham Cana

5.

Answer : Indira Gandhi Canal

e Question No. 13
When was the Morley-Minto Reforms’ Indian Council Act passed?
Options:

1.1909
2.1912
3.1906
4.1923

5.

Answer : 1909

ixam
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e Question No. 14
Bhand Pather is the traditional theatre form of which of the following states?
Options:

1. Sikkim

2. Kashmir

3. Madhya Pradesh
4. Haryana

5.

Answer : Kashmir

e Question No. 15
First education satellite launched by ISROis ____ .

Options:

1. Rohini
2. INSAT
3. EDUSAT
4. PARAM

5.

Answer : EDUSAT

e Question No. 16

Which of the following is India’s first web repository launched by The National Environmental Engineering Research

Institute (NEERI) along with CSIR (Council of Scientific Industrial Research)?
Options:

1. NAP

2. CAMPA



3.IndAIR
4. IWMP

5.

Answer : IndAIR

e Question No. 17
________ Language is also called programming language.

Options:

1. Low Level
2. Operator
3. High Level
4. Machine

5.

Answer : High Level

e Question No.18

Which of the following country is the largest producer of gold in the world?

Options:

1. Chile

2. Qatar
3. Brazil
4. China

5.

Answer : China

e Question No.19

The pioneers known for inventing microchip technology are Jack Kilboyand _________ .
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1. Jacob Berzelius
2. Tim Leatherman
3. Robert Noyce

4. Charles Lamprey

5.

Answer : Robert Noyce

e Question No. 20

Who can appoint the Chief Election Commissioner of India?

Options:

1. Vice-President

2. Prime Minister

3. Chief Justice of India
4. President

5.

Answer : President

e Question No. 21

In which of the following country 19th Asian Games will be held?

Options:

1. Nepal
2.China
3.India
4. Thailand

5.

Answer : China

ixam
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e Question No. 22
What is name of the former Chief Election Commissioner of India, who has passed away recently?
Options:

1. Somnath Chatterjee
2. M Karunanidhi

3.T N lyer Seshan

4. RK Dhawan

5.

Answer : T N lyer Seshan

e Question No. 23
Who among the following is nominated as UNHCR Goodwill Ambassador for Pakistan?
Options:

1. Mahira Khan
2.Rima

3. Humayun Saeed
4. Faisal Qureshi

5.

Answer : Mahira Khan

e Question No. 24
Who among the following has won his 22nd World Billiards Title 2019?
Options:

1. Pankaj Advani
2. Sourav Kothari

3. Geet Sethi
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4. Aditya Mehta

5.

Answer : Pankaj Advani

e Question No. 25
In which year The Life Insurance sector and Life Insurance Corporation of India was nationalized?
Options:

1.1906
2.1971

3.1956
4.1978

5.

Answer : 1956

e Question No. 26

Sum of first 10 terms of a GP is equal to the sum of the first 12 terms in the same GP. Sum of the first 15 terms is 31,

what is the third term in the GP?

Options:

Answer : 31

e Question No. 27
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Alloy A contains copper and zinc in the ratio 4:5 and alloy B contains copper and zinc in the ratio 7:2. A and B are

taken in the ratio 7:4 and melted to form a new alloy. The percentage of zinc in the new alloy is closest to:

Options:

1.39%
2.47%
3.25%
4.79%

5.

Answer : 39%

e Question No. 28
A number reduced by 33% becomes 335. What percent should it be increased so that it becomes 9507
Options:

1.95%
2.90%
3.100%
4. 85%

5.

Answer : 90%

e Question No. 29
If x4 + x2 y2 + y4 =37and x2 - Xy + y2 =5, then what is the value of xy ?
Options:

1.0
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Answer : 1.2

e Question No. 30

Twenty five liters of 60% concentration of acid solution is added to 35 liters of 80% concentration of acid solution.

What is the concentration of acid in the new solution? (correct to one decimal places)
Options:

1.62.5%
2.717%

3.60.7%
4.55.7%

5.

Answer : 71.7%

e Question No. 31

A person sold two articles for Rs. 1936 each. On one he gained 28% and on other he lost 12%. What is his overall gain

or loss percent, correct to one decimal place?
Options:

1. 43% loss
2.5% loss
3.43% gain
4.5% gain

5.

Answer : 43% gain

e Question No. 32

If a six digit number 3x 7z 8y is divisible by 7, 11, 13, then the average value of x, y, z is:
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Options:

1.6
2.8
3.7
4.9

5.

Answer: 6

e Question No. 33

The average of 177 numbers is 48. The average of first 9 numbers is 45 and average of next 9 numbers is 52. If th

number is excluded, then the 60% of the average of the remaining number is:
Options:

1.28.4625
2.24.4375
3.29.5225
4.28.5135

D;

Answer : 28.4625

e Question No. 34

The fourth term of an arithmetic progression is 6. Then the sum of first seven terms is:
Options:

1.44
2.35
3.42
4.46

5.
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Answer : 42

e Question No. 35

In a class of 50 students, the girls are 76%. The average weight of boys is 62 kg and that of girls is 58 kg. What is the

average weight (in kg) of whole class?
Options:

1. 61.56

2.60.24
3.58.96
4. 6145

5.

Answer : 58.96

e Question No. 36

A can do a certain work in 12 days, B alone can do the same work in 16 days. A and B undertook to complete it in Rs.

8000. With the help of C, they completed the work in 6 days. How much money (in Rs.) be paid to B?
Options:

1. 4000
2.3000
3.2000
4.1000

5.

Answer : 3000

e Question No. 37

A sum of Rs. 21500 was lent partly at 4% p.a. and remaining at 6% p.a. simple interest. The total interest received

after 3(1/2) years is Rs. 3521. The sum (in Rs.) lent at 6% p.a. is:
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Options:

1.8000
2.7550
3.7700
4.7300

5.

Answer : 7300

e Question No. 38
If x = (\/5-1/3) / (\/5+\/3) and y is reciprocal of x. then what is the value of /(X + y°)?
Options:

1. 497
2.456
3.432
4.488

5.

Answer : 488

e Question No. 39

If A’s income is 60% more of B’s income and B’s income is 40% less than C’s income, then by what percent is C’s

income more than B’s income? (Correct to one decimal place)
Options:

1776

2.66.7
3.624
4.67.8

5.
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Answer : 66.7

e Question No. 40

A man standing in a point C of a ground. He observes a flying an aero-plane in the east at an angle of elevation of
30° and after 30 seconds, he observes the same aero-plane in the west at an angle of elevation of 60°. If the aero-

plane flies all along in a straight line at a height of 480+/3 m, then its speed in km/h is:
Options:

1.247.8
2.2575
3.2304
4.2498

5.

Answer : 230.4

e Question No. 41
03[0+ 0.54080- 0.1M00is equal to :
Options:

1.0.6700O
2.0.679

3.0.61070
4.0.65mM0

5.

Answer : 0.6700

e Question No. 42

A bus passes two bridges of length 500 m and 325 m in 90 seconds and 60 seconds respectively. The length (in m)

of the bus is
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Options:

1.25
2.27
3.22
4.30

5.

Answer : 25

e Question No. 43

A covers a certain distance at a certain speed. If he covers one- third of the distance in three time then the ratio of

this speed to the original speed is:

Options:

Answer : 1:9

e Question No. 44

A woman distributed her savings between her daughters A, B, Cand D in the ratio 6 : 7: 9: 16. If A gives Rs. 600

from his share to C, the ratio of shares of A, B, C and D becomes1: 4:2: 5. What is the average of sum of shares (in

Rs.) of A, C and B, in the beginning?
Options:

1. 4550
2. 4150

3.4400
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4. 5100

Answer : 4400

e Question No. 45

A and B can do a work in 21 days, A is (7/4) times as efficient as B. In how many days, A alone can complete the

(100/3)% of the work?
Options:

1.13
2.22
.M

4.17

Answer : 11

e Question No. 46

A person marks his goods 40% above the cost price. He sold 30% of goods at marked price, 60% of the remaining

at a discount of 20% and remaining at 40% discount .What is 60% of his overall gain percent?
Options:

1.1315%
2.15.18%
3.17.14%
4.12.56%

5.

Answer : 12.56%

e Question No. 47
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A 18 m long ladder (whose foot is on the ground) leans against a wall making an angle of 60° with the wall. What is

the height (in m) of the point where the ladder touches the wall from the ground?
Options:

1.9

2. (9\/3)/2
3.9/2

4.9 /3

5.

Answer : 91/3

e Question No. 48
If x4 - 62x2 +1=0, then a value of x3 + X 7 can be:
Options:

1.389
2.488
3.498
4.320

5.

Answer : 488

e Question No. 49
If VIR0 R0/BI0++/BHRH/MI50=+/a + /b, where a and b are positive integers, then the value of b - a is closest to:
Options:

1.-5
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Answer: -4

e Question No. 50

A person invested a sum of Rs. 9000 at r% per annum at simple interest and a sum of Rs. 13500 at (r-4)% at simple

interest. If total interest earned on both the investments for 5 years is Rs. 9337.50, then the rate of interest on the

first investment is:
Options:

1.10.2%
2.10%
3.10.7%
4.9.5%

5.

Answer :10.7%

e Question No. 51

There are five friends, P, Q, R, S and T. P says to Q, “If you give me Rs 300, you will have as many as | have at this
moment. If S takes Rs 500 from you, he will have as much money as T has now. P and R together has twice much

money as T has. Q and S combined have same amount of money as P and R combined. If together they have Rs

15000, How much money R has?
Options:

1. Rs. 2800
2.Rs. 2000
3.Rs. 3200
4.Rs. 3000

5.

Answer : Rs. 2800
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e Question No. 52
If in a certain code, 'HOTEL' is written as ‘GINPSUDFKM’, How will BUTLER be written as in that language?
Options:

1. CDTVSUKMDFQS
2. ACTVSUKMDFPS
3. ACSVSUKMDFQS
4. ACTVSUKMDEFQS

5.

Answer : ACTVSUKMDFQS

e Question No. 53

Four groups of numbers are given out of which the numbers in three groups bear a certain common relationship.

Choose the group in which the numbers are differently related.
Options:

1.13:78:144
2.18:108: 216
3.24:144: 288
4.16:96 :192

5.

Answer:13:78:144

e Question No. 54

Which of the answer figures is the exact mirror image of the given problem figure when the mirror is held at the

right side?
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e Question No. 55

Seven friends, A, E, |, O, U, X and Z are sitting around a round table facing towards the center. A is neighbor of E and

I. O is not neighbor of | and Z who is second to the left of O and has U and X as neighbors’?
Who is between A and O?
Options:

1E
2.U
3.1
4. X

5.

Answer: E

e Question No. 56

In a certain code language, ‘GUAVA’ is written as 21-7-1-6-1 then how will ‘APRICOT" " be written in the same code

language?
Options:

1.1-12-10-19-25-4-21
2.1-16-10-3-25-13-8
3.1-12-19-3-4-13-8
4.1-12-10-3-25-4-8

5.

Answer : 1-12-10-3-25-4-8

e Question No. 57
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Select the figure which is different from the other three alternatives.

W
A
m
o

B—4H |6o—=06
——0 |8—18
> | 4—>

W
A
WV
A

Options:

1D
2.C
3.B
4.A

5.
Answer: D

Direction:

Following are the criteria for the selection of Civil Engineers in an organization:
The candidate must -

(i) have a B.E. or B. Tech from a recognized university with minimum 65% marks.
(i) have secured at least 50 % marks in the selection test.

(iiif) have secured at least 55% marks in the interview.

(iv) not be less than 22 years and not more than 27 years of age as on 1.10. 2019.

In case of a candidate who satisfies all other criteria except:

a) At (i) above but has more than 2years experience, the case may be referred to the General Manager,

Recruitment.

b) At (ii) above but have secured 75% and above marks in the selection interview, the case may be referred to the

Sr,VP.HR
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e Question No. 58

Based on the above criteria and conditions, analyze and decide which of the following course of action should be
taken for the candidate whose description is provided below. Please note that you are not to assume anything

other than the given information.

Amita Sachdeva, born on 20th October, 1992 secured 55% marks in BE final year She got 60% marks in both

selection test and interview.
Options:

1. The candidate is to be selected.

2. The case is to be referred to the General Manager, Recruitment.
3. The candidate is not to be selected.

4. The case is to be referred to the Sr.V.P. HR

5.

Answer : The candidate is not to be selected.

e Question No. 59

How many triangles are there in the given figure?

Options:
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1.23
2.17
3.25

4.18

Answer : 23

e Question No. 60

A statement is given followed by two courses of actions | and Il. You have to assume everything in the statement

to be true, then decide which of the suggested given courses of action logically follows for pursuing.

Statement: There has been alarming drop in the ground water level across the major cities of the country.

Cour ses of action:
I. The government should create awareness among the citizens through mass media to stop the wastage of water.

IIl. The governmental and non-governmental agencies should take immediate steps to recharge the ground water

like rain water harvesting.
Options:

1. Neither I nor Il follows.
2. Only Il follows.

3.Both I or Il follow.

4. Only | follows.

5.

Answer : Both | or Il follow.

e Question No. 61
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Select the figure that will come next in the following figure series.

A ™
/O\ || wl:l,i ?
A
E.

C.
D.

Select the figure that will come next in the following figure series.

A
:IEO\

\;‘
il
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()
(&)
5
©

Options:

1A
2.B
3.C
4.D

5.

Answer: A

e Question No. 62
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A + B means ‘A is the father of B’; A - B means 'A is the wife of B, A x B means 'A is son of B, A + B means ‘A is the

daughter of B". If W x Z+Y + X, then how is X related to W?
Options:

1. Son in law

2. Daughter in law
3. Mother in law
4. Mother

5.

Answer : Mother

e Question No. 63

Which number will replace the question mark (?) in the following series?
7,17,41,85, _____

Options:

1.147
2.145
3.150
4.155

5.

Answer : 155

e Question No. 64

Some equations are solved on the basis of a certain system. Find the correct answer for the given equations on that

basis:-
5x7x4=53

7x5x8=67
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8x3x6=7
Options:

1.77
2.73
3.87
4.67

5.

Answer : 77

e Question No. 65
Select the pair of words from the given options that shares a similar relationship as the given pair.
Robust : Weak
Options:

1. Refuse : Accept
2. Vacant : Empty
3. Alien : Foreigner
4.Kind : Gentle

5.

Answer : Refuse : Accept

e Question No. 66

Rehan is younger than Hrithik but elder than Jayant and Parikshit who are elder than Avnish. Rohit is elder than

Mayank but younger than Avnish. Who is the youngest of them all?
Options:

1. Avnish

2. Mayank
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3. Hrithik
4. Rohit

5.

Answer : Mayank

e Question No. 67

Two statements are given followed by two conclusions | and Il. You have to consider these statements to be true,
even if they seem at variance from commonly known facts. Decide which of the given conclusions logically follow/s

from the given statement.

Statements:

A. Some dentists are surgeons.

B. No surgeon is an amateur.

Conclusions:

I. Some amateurs are surgeons.
II. All surgeons are dentists.
Options:

1. Neither conclusion I nor Il follows.
2. Only conclusion Il follows.

3. Either conclusion | or Il follows.

4. Only conclusion | follows.

5.

Answer : Neither conclusion | nor Il follows.

e Question No. 68

Select the option that is related to the fourth term in the same way as the first term is related to the second term.

POP : KLU :: FMO:
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Options:

1. KNU
2. KNT
AT
4. AMU

5.

Answer : AJT

Question No. 69

A group of letters are numbered from 1to 8. Four options given below depict combinations of these numbers.

Select that combination of numbers so that letters arranged accordingly form a meaningful word.

12345678
RNSIPDEI
Options:

1.4,23,58,16,7
2.7,3,2,5,8,1,4,6
3.4,2,3,5,8,1,7,6
4.3,5,4,7,1,6,2,8
5.

Answer:4,2,3,5,8,1,7,6

Question No. 70

Select the option that is related to the fourth term in the same way as the first term is related to the second term.
Theatre : Actor :: Laboratory : ?

Options:

1. Astronomer
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2. Scientist
3. Lab-coat
4. Microscope

5.

Answer : Scientist

e Question No. 71

Three of the following four letter-clusters are alike in a certain way and one is different. Pick the odd one out.

Options:
1. IKE = PNT
2.FMS - VOl
3. GTL - REM
4.ROQ - GJH
5.

Answer : FMS - VOI

e Question No. 72



Select the figure that will come next in the following figure series.

=

=)

< d
o Al+
A
E
D
Options:
1A
2.B
3.C
4.D
5.
Answer: C

e Question No. 73
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Jigyasa is seven ranks ahead of Shekhar in a class of forty students. If Shekhar is 16th from the last, what is Jigyasa’s

rank from the top?
Options:

1.18th
2.17th
3.15th

4.16th

U

Answer : 18th

e Question No.74

Choose the Venn diagram from the given options which represents the correct relationship amongst the following

classes:

Crocodiles, Lizards, Reptiles

@@oo
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Options:

1A
2.B
3.C

4.D

v

Answer: B

e Question No. 75

If ’L" is the brother of ‘O’, ‘O’ is the son of ‘K’, and ‘M’ is the father of ’L’, then how is ‘K’ related to ‘L'?
Options:

1. Husband
2. Sister

3. Mother

0(6



4, Brother

5.

Answer : Mother

e Question No.76

Identify the part of the sentence which contains an error.

Hostility/ between the rival groups/ have increased/ since the last elections.

Options:

1. since the last elections

2. have increased

3. between the rival groups
4. Hostility

5.

Answer : have increased

e Question No. 77

Choose the correct structure to complete the sentence.

Friendship built on business is

Options:

1. best than

2. better than
3.the best

4. the better than

5.

Answer : better than

business based on friendship

ixam
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e Question No.78
Put the jumbled words in the correct order to form a meaningful sentence.
her / told / exercise / examination / to / regularly / the / her / physician / after
Options:

1. After examination, her physician told to her the exercise regularly.
2. After the examination, her physician told her to exercise regularly.
3. After her examination, the physician told to her to exercise regularly.
4. After her examination, the physician told to exercise regularly to her.

5.

Answer : After the examination, her physician told her to exercise regularly.

e Question No. 79
Choose the correct spelling from the options given.
Options:

1. Professionl
2. Profetional
3. Professional
4. Prafesional

5.

Answer : Professional

e Question No. 80

Choose the word that means the opposite of the highlighted word in the sentence.

The program was not organized properly and confusion seemed inevitable.

Options:

ixam
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1. Uncertain

2. Sufficient

3. Permanent
4. Appropriate

5.

Answer : Uncertain

Question No. 81

Choose the word that best replaces the words highlighted in the sentence.

The terrorists targeted the assembly of worshippers on a holy day to cause maximum damage.
Options:

1. Congregation
2. Crowd

3. Gathering

4. Colleagues

5.

Answer : Congregation

Question No. 82
Choose the correct word(s) to fill in the blank.

It was my sister’s birthday and all ____ us ____ the family wanted to buy a gift her.

Options:

1. from; from; for
2. of; from; to

3. 0of; in; to

4, of; in; for

5.

0(6
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Answer : of; in; for

e Question No. 83

Complete the sentence with the appropriate word.

Our family has been the details for buying our own house

Options:

1. Applying

2. Thinking

3. Stating

4. Considering

5.

Answer : Considering

e Question No. 84
Choose the correct order of sentences to form a meaningful paragraph.
Options:

1. On their return he was coached by private tutors until he was twelve. While he was still an infant, Henry
James was taken abroad by his parents for a year. At that time, he was taken to France and Germany to
spend three years there. He spent those years absorbing the culture of those people.

2. While he was still an infant, Henry James was taken abroad by his parents for a year. On their return he
was coached by private tutors until he was twelve. At that time, he was taken to France and Germany to
spend three years there. He spent those years absorbing the culture of those people.

3. He spent those years absorbing the culture of those people. On their return he was coached by private
tutors until he was twelve. At that time, he was taken to France and Germany to spend three years there.
While he was still an infant, Henry James was taken abroad by his parents for a year.

4. While he was still an infant, Henry James was taken abroad by his parents for a year. At that time, he was
taken to France and Germany to spend three years there. On their return he was coached by private tutors

until he was twelve. He spent those years absorbing the culture of those people.
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Answer : While he was still an infant, Henry James was taken abroad by his parents for a year. On their return he

was coached by private tutors until he was twelve. At that time, he was taken to France and Germany to spend

three years there. He spent those years absorbing the culture of those people.

Question No. 85

Choose the word that means the opposite of the highlighted word in the sentence.

The leading English newspapers are known for their comprehensive coverage of news.

Options:

1. Indifferent
2. Difficult

3. Impossible
4.Ilnadequate

5.

Answer : Inadequate

Question No. 86

Choose the correct words to fill in the blanks.

One ____ the two elevators

the building has been

Options:

1. of; from; under; since
2.in; in; in; for

3. among; from; in; for
4. of; in; under; for

5.

Answer : of; in; under; for

repair nearly two weeks.




e Question No. 87

Choose the word that roughly means the same as the word highlighted in the sentence.
The committee's decision to fund the project was agreed upon by everyonein the committee.
Options:

1. Unanimous

2. Divisive

3. Decided

4. Comprehensive

5.

Answer : Unanimous

e Question No. 88

Identify the part of the sentence which contains an error.
In the front room/ of our house/ there’s/ two chairs and a sofa.
Options:

1. there’s

2. of our house

3.In the front room

4. two chairs and a sofa

5.

Answer : there’s

e Question No. 89

Choose the correct phrase or expression to complete the sentence.

I havenever ________ in the Raj Bhavan, but | hope to very soon.

ixam
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Options:

1. set out
2. set foot
3. Set forth
4.set up

5.

Answer : set foot

e Question No. 90

Choose the correct phrase or expression to complete the sentence.

| was quite after | heard that we were going to Singapore for a week’s holiday.

Options:

1. kicked off

2. knocked off
3. keyed up

4. held off

5.

Answer : keyed up

e Question No. 91

Choose the correct spelling from the options given.

Options:

1. Temperature
2. Tempereicher
3. Temparacher
4. Tamparechur

5.

ixam

0(6



Answer : Temperature

e Question No. 92

Choose the correct structure to complete the sentence.

Sanjay has been posted in Hyderabad, birthplace.

Options:

1. where it is her
2.there is her

3. Where is her
4. which is her

5.

Answer : which is her

e Question No. 93

Choose the word that best replaces the words highlighted in the sentence.

The children in the playschool were playing with one half of a sphere

Options:

1.a globe

2. a cylinder
3.a sphere

4. a hemisphere

5.

Answer : a hemisphere

e Question No. 94

Complete the sentence with the appropriate word.

ixam
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After examining the facts in the case, the judge used his to grant bail to the accused.

Options:

1. Discretion
2. Influence
3. Lawyers
4. Skills

5.

Answer : Discretion

Question No. 95

Choose the word that roughly means the same as the word highlighted in the sentence.

Whenever a new movie is released, some people commit the act ofillegally copying the film without permission
Options:

1. Copying

2. Robbing
3. Piracy

4. Cheating

5.
Answer : Piracy

Direction:

Read the passage carefully and answer the questions that follow.
The government has ordered re-examination in the SSLC English Il paper in a district.

In a statement in the Assembly on Wednesday, the Education Minister said that the invigilators in seven rooms of a
higher secondary school had been given a packet containing the question paper for English Il instead of English | on
March 22. The mistake had been realized after more than 15 minutes and the question papers were withdrawn and

deposited with the paper custodian.
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Denying reports the the question papers had been leaked', e Minister speculated that the opportunity to make a
fast buck out of the situation could have been made use of by some. He said enquiries by his department as well as
the CID had revealed that the question papers reportedly leaked' and in circulation had nothing in common with

the actual question paper.

The government had ordered a re-examination taking into consideration the possibilities of the invigilators

remembering some of the questions in the leaked' paper.

Two officials have been suspended for the leakage of the exam papers, according to sources. They are the
departmental officer and the custodian of the papers, both based at the district headquarters.

Question No. 96

Choose the most appropriate option.

What is the main idea of the passage?

Options:

1. The difficulties faced by students in an examination
2. Suspension of government officials by the minister
3. The Education Minister's press conference

4. The reported leakage of an exam question paper

5.
Answer : The reported leakage of an exam question paper

Direction:

Read the passage carefully and answer the questions that follow.
The government has ordered re-examination in the SSLC English Il paper in a district.

In a statement in the Assembly on Wednesday, the Education Minister said that the invigilators in seven rooms of a
higher secondary school had been given a packet containing the question paper for English Il instead of English | on
March 22. The mistake had been realized after more than 15 minutes and the question papers were withdrawn and

deposited with the paper custodian.
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Denying reports the the question papers had been leaked', e Minister speculated that the opportunity to make a
fast buck out of the situation could have been made use of by some. He said enquiries by his department as well as
the CID had revealed that the question papers reportedly leaked' and in circulation had nothing in common with

the actual question paper.

The government had ordered a re-examination taking into consideration the possibilities of the invigilators

remembering some of the questions in the leaked' paper.

Two officials have been suspended for the leakage of the exam papers, according to sources. They are the
departmental officer and the custodian of the papers, both based at the district headquarters.

Question No. 97

Which of the following is NOT TRUE according to the passage?

Options:

1. The government ordered a reexamination in the subject of the leaked' question paper.
2. The minister denied that there was a leakage of question papers.

3. The invigilators of the examination were dismissed from service.

4. Two officials were suspended for the 'leakage of the question paper.

L5y
Answer : The invigilators of the examination were dismissed from service.

Direction:

Read the passage carefully and answer the questions that follow.
The government has ordered re-examination in the SSLC English Il paper in a district.

In a statement in the Assembly on Wednesday, the Education Minister said that the invigilators in seven rooms of a
higher secondary school had been given a packet containing the question paper for English Il instead of English | on
March 22. The mistake had been realized after more than 15 minutes and the question papers were withdrawn and

deposited with the paper custodian.

Denying reports the the question papers had been leaked', e Minister speculated that the opportunity to make a

fast buck out of the situation could have been made use of by some. He said enquiries by his department as well as
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the CID had revealed that the question papers reportedly leaked' and in circulation had nothing in common with

the actual question paper.

The government had ordered a re-examination taking into consideration the possibilities of the invigilators

remembering some of the questions in the leaked' paper.

Two officials have been suspended for the leakage of the exam papers, according to sources. They are the
departmental officer and the custodian of the papers, both based at the district headquarters.

Question No. 98

The Minister speculated that.." The word "speculated" is most likely to mean

Options:

1. evaluated
2. judged

3. knew

4. guessed

5.
Answer : guessed

Direction:

Read the passage carefully and answer the questions that follow.

The government has ordered re-examination in the SSLC English Il paper in a district.

In a statement in the Assembly on Wednesday, the Education Minister said that the invigilators in seven rooms of a

higher secondary school had been given a packet containing the question paper for English Il instead of English | on

March 22. The mistake had been realized after more than 15 minutes and the question papers were withdrawn and

deposited with the paper custodian.

Denying reports the the question papers had been leaked', e Minister speculated that the opportunity to make a

fast buck out of the situation could have been made use of by some. He said enquiries by his department as well as

the CID had revealed that the question papers reportedly leaked' and in circulation had nothing in common with

the actual question paper.
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The government had ordered a re-examination taking into consideration the possibilities of the invigilators

remembering some of the questions in the leaked' paper.

Two officials have been suspended for the leakage of the exam papers, according to sources. They are the

departmental officer and the custodian of the papers, both based at the district headquarters.

Question No. 99

Choose the best option.

How would you describe the overall tone of the passage?
Options:

1. casual

2. funny

3. serious
4. flippant

5.
Answer : serious

Direction:

Read the passage carefully and answer the questions that follow.
The government has ordered re-examination in the SSLC English Il paper in a district.

In a statement in the Assembly on Wednesday, the Education Minister said that the invigilators in seven rooms of a
higher secondary school had been given a packet containing the question paper for English Il instead of English | on
March 22. The mistake had been realized after more than 15 minutes and the question papers were withdrawn and

deposited with the paper custodian.

Denying reports the the question papers had been leaked', e Minister speculated that the opportunity to make a
fast buck out of the situation could have been made use of by some. He said enquiries by his department as well as
the CID had revealed that the question papers reportedly leaked' and in circulation had nothing in common with

the actual question paper.
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The government had ordered a re-examination taking into consideration the possibilities of the invigilators

remembering some of the questions in the leaked' paper.
Two officials have been suspended for the leakage of the exam papers, according to sources. They are the
departmental officer and the custodian of the papers, both based at the district headquarters.

e Question No. 100
From the news report, including the minister's statement and the CID's report, we may infer that
Options:

1. the CID's report was not based on actual facts.

2. the entire question paper was not actually leaked out.

3. the entire question paper was leaked out but the minister tried to cover it up.
4. the government officials should not have been punished.

5.

Answer : the entire question paper was not actually leaked out.
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